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pip install AX|g+7

pip install spidev

pip install time

pip install pymysqgl

pip install urllib.request

5.import & A&

import spidev
import time
import pymysgl
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import wrllib.request
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5 | spi = spidev.SpiDev()

6 | spi.open{@,8)

7 | spi.max_speed hz =266
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1@ | d=f analog read(channel}:

11 r = spi.xfer2([1, (8 + channel) << 4, 8])
12 adc_out = ((r[1] & 3) << 8) + r[2]
13 return adc out
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18 ' def insertDB(reading,voltags):

1 comn = pymysql. conect(host="localnost’, user='D8 10°, password="DBLE ', db="08 ID', charset="utf3')
8

pil with conn.cursor() as cursor:

2 sgl = 'insert into DB ID(reading; voltage) values(is, Xs)'
3 cnt = cursor.execute(sol, (reading,voltage))
24 r = conn. comnit()
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i orint("Failed")

i 2lse:

pl! print("Save 0k")
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3 conn. close()
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25 det insertCloud(reading,voltage):

36

EY, api key ="EKSPEBOVEYALNPST"

28 url = "https://api.thingspeak.com/update’
240 url = url + "?api key=Rs" ¥ api key
A4 url = url + 'E&fieldi=%s' ¥ reading

4% url = url + "&fisld2=%s" % wvoltage

42

43

44

45 H#Hprint{url)

a6 urllib. request.urlopen{url)
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51 | while True:
52 reading = analog read(@)
53 voltage = reading * 3.3 / 1824
54 print({"Reading=R%d\tVoltage=¥%f" % (reading, voltage))
55 insertDB(reading,voltage)
56 insertCloud(reading,voltage)
57 time.sleep(15)
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import spidev

import time

import pymysal
import urllib.request
spi = spidev.SpiDev()
spi.open(0,0)
spi.max_speed_hz =9600
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def analog_read(channel):
r = spixfer2([1, (8 + channel) <<4, 0])
adc_out = ((r[1] &3) <<8) + r[2]
return adc_out
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def insertDB(reading,voltage):

conn = pymysal.connect(host='localhost’, user='DB_ID',

db='DB_ID', charset='utf8")
with conn.cursor() as cursor:
sgl ='insert into DB_ID(reading, voltage) values(%s, %s)
cnt = cursor.execute(sqal, (reading,voltage))
r = conn.commit()
if r==0:
print("Failed")
else:
print("Save Ok")
conn.close()
HHHHH A HHEHF S SEHSHHS
HHHHHHFH RS S RE HHHHFFHH S
def insertCloud(reading,voltage):
api_key ="EKSPEB9VOYALNPST"
url ='https://api.thingspeak.com/update’
url = url +'?api_key=%s' % api_key
url = url +'&field1=%s' % reading
url = url +'&field2=%s" % voltage
#print(url)

password='DB2 <,



urllib.request.urlopen(url)
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while True:
reading = analog_read(0)
voltage = reading *3.3 /1024
print("Reading=%dwWtVoltage=%f" % (reading, voltage))
insertDB(reading,voltage)
insertCloud(reading,voltage)
time.sleep(15)



